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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 297 365 398 763
EARI1TH 1,037 1,181 1,282 2,463
mAET2TH 1,211 1,086 1,419 2,505
A R T 2,281 2,349 2,570 4919
BERT1TH 529 529 584 1,113
B ERT2TH 410 423 463 886
B ERI3TH 317 358 335 693
B ERTATH 530 486 527 1,013
B ERSTH 826 907 914 1,821
I ER6TH 365 402 420 822
HiF = HT 553 613 653 1,266
45 KHT 461 529 552 1,081
HHT 1,010 1,133 1,264 2,397
BEHT 53 55 59 114
A K BT 621 732 745 1,477
7 HT 442 451 459 910
RICET 470 513 538 1,051
FORHET 200 200 232 432
RFHT 210 213 248 461
KHET 367 348 386 734
KET1TH 235 248 288 536
XKET3TH 287 340 319 659
XETATH 883 828 1,036 1,864
fit] LLI BT 2,393 2,792 2,881 5,673
JE LT 984 1,120 1,229 2,349
EHERT2TH 302 439 430 869
EHERISTH 436 538 551 1,089
EHERT4TH 386 458 480 938
EHERSTH 330 386 460 846
EHERT6TH 209 282 268 550
EHERT7TH 163 244 253 497
=Y:i 331 342 397 739
8 [ T 1,621 1,503 1,754 3,257
=i ET 508 547 622 1,169
2l 3t BT 479 600 576 1,176
N =15 103 118 124 242
+HEFRT A 637 647 714 1,361
L EFHTER 858 751 865 1,616
L HAET 1,971 2,182 2273 4,455
LFH¥ABT1TH 74 123 122 245
LE¥ET2T B 156 160 177 337




HEZ HH 5 £ i
LH¥AET3T B 153 152 179 331
LF#ET4TH 161 172 199 371
LHABTS T B 213 269 290 559
I == HT 206 214 239 453
JOSFET1TH 550 524 561 1,085
Mn=rET2TH 553 541 564 1,105
JO=fET3TH 424 446 410 856
M=rET4T H 1,101 1,119 1,139 2,258
I S5k T 588 611 664 1,275
I=F5di) 228 219 257 476
Jt B BT 30 38 39 77
E[d:) 405 352 344 696
fHZaE T 817 937 994 1,931
FHRHET 78 86 96 182
1 2 FF T 332 380 410 790
BEFE1TH 88 113 126 239
BEFE2TH 286 333 342 675
T EHT 130 147 144 291
/N BB T 3,090 3,156 3,379 6,535
1R T 259 291 311 602
YEZF HT 749 742 817 1,559
EXBI1TH 266 245 276 521
=/ LLIHT 225 166 128 294
Hh ek HT 17 17 5 22
T A EHET 10 13 10 23
THHEE1TH 728 688 720 1,408
THHEE2TH 527 574 568 1,142
THHEESTH 801 827 946 1,773
TEHE1TH 187 191 183 374
TEHRI2TH 813 767 883 1,650
TEHRISTH 164 167 185 352
TEHRI4ATH 91 94 106 200
TEHRISTH 221 241 246 487
T HAET 664 702 748 1,450
TET1TH 356 358 371 729
THET2 T H 466 443 493 936
TH¥BISTH 204 203 238 441
TET4TH 159 157 187 344
HTAEHET 24 23 9 32
T 191 192 194 386
#8)11 BT 44 45 54 99
KT HT 300 323 349 672

e K HT 1,688 1,722 1,894 3,616
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HEZ HH 5 £ i
FSIED 271 323 319 642
XLAT1TH 849 801 937 1,738
XLAT2T B 316 343 362 705
X#ILET3TH 148 159 164 323
1 [ BT 49 66 79 145
hHET1TH 365 384 411 795
hHET2TH 456 487 530 1,017
b HET3TH 430 516 519 1,035
niEld:) 260 249 291 540
th 2 JEHT 225 210 249 459
ch T 125 125 164 289
FRAHT 769 875 889 1,764
DiX /N 892 896 1,036 1,932
75 K ERET 794 986 1,028 2,014
75 2 [N HET 1,652 1,846 1,983 3,829
A 808 783 891 1,674
$FHET1TH 538 470 536 1,006
$FHET2T H 421 396 468 864
¥FHETST B 205 220 235 455
T 167 222 226 448
HET1 T B 380 478 493 971
HET2 T B 350 366 403 769
HET3 T B 356 396 444 840
HET4 T B 114 107 136 243
AN ) 993 1,083 1,136 2.219
J\HHT 162 204 203 407
T 4 BT 253 294 327 621
T A HT 2,092 2,138 2,338 4,476
THB1TH 23 21 21 42
T4HB2TH 1,454 1,384 1,361 2,745
T4HBI3TH 186 167 171 338
THHBI4TH 373 316 381 697
THBI5TH 959 702 970 1,672
THHBI6TH 353 354 371 725
THRI7TH 360 393 433 826
T4HBISTH 391 419 434 853
THRBOTH 390 463 508 971
T+4R13TH 309 351 395 746
AR NBHT 1,987 1,733 2,008 3,741
HARRHET 1,333 1,236 1,239 2,475
HEARK/ERET 287 376 390 766
F AR JEHT 165 171 180 351
o NEL) 132 120 132 252
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HEZ HH 5 = 5
FH AR hHT 201 227 263 490
N 439 467 496 963
H AR EHT 322 349 386 735
EHARE)IIHT 296 278 304 582
=N ] 109 121 135 256
FH AR JTHT 103 97 117 214
EARERHE 677 581 673 1,254
B K BRHET 387 399 405 804
Edsa] 885 900 1,020 1,920
BIERI1TH 761 734 763 1,497
BEFET2 T H 594 603 676 1,279
BEFETST H 349 412 412 824
AIFTET1T B 420 380 431 811
AIFFAT2T B 596 606 666 1,272
AIFTET3T B 599 692 746 1,438
A HT 188 217 199 416
H_LH 217 282 296 578
NER) 803 791 861 1,652
ERL 731 907 917 1,824
= HHT 1,719 1,937 2,030 3,967
HEXHRET1TH 581 654 676 1,330
HETIRET2TH 508 603 644 1,247
HLAREISTH 294 373 375 748
P fx T 316 366 399 765
mERI1TH 1,149 1,128 1,276 2,404
mERI2TH 840 963 1,062 2,025
FA T 1,342 1,405 1,587 2,992
= RITET 532 516 552 1,068
= AHT 344 277 346 623
AR#HT 10 9 4 13
=) 496 574 527 1,101
SHAE1TH 713 638 801 1,439
S HET2TH 405 443 471 914
aHEI3TH 860 748 922 1,670
S HET4TH 775 650 860 1,510
E& T 1 1 0 1
J\BRET1TH 209 273 266 539
J\BRET2T B 218 233 231 464
J\BRET3T H 240 293 299 592
1T HT 289 432 416 848
FHEIBRT1 TH 162 198 205 403
FHREIRT2TH 303 437 466 903
FIaTET3T B 104 171 169 340
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BT £ H 5 oS g
FEOER1TH 24 39 33 72
FEOER2TH 0 0 0 0
FEOERI3TH 23 20 3 23

WaeEt 88,399 92574 | 100,341 | 192,915
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